13. When %k + %k = 1, what is the value of k ?

A. %
B.
c. I
D. 6
E. 12



11. Forallx, 3x+7)*=?

SIS TR e

6x + 14
6x° + 14
9x* + 49
9x* + 21x + 49
Ox* + 42x + 49



15. If 3*= 54, then which of the following must be true?

l<x<?2
2<x<3
3<x<4
4<x<5
5<x

HOOF >



9. The expression (3x — 4y2)(3x + 4y2) is equivalent to:

A. 9x* - 16y°
B. 9x°— 8
C. 9x* + 16y*
D. 6x* - 16y*
E. 6x*— 8y*



22. If a, b, and c are positive integers such that a’ = x and
c’ =y, then xy = ?

AeEQ
?
\L)



47. If r and s can be any integers such that s > 10 and
2r + s = 15, which of the following is the solution set

for r ?

A. r=23
B. r=0
C. r=22
D. r<0
E. r<2



23. Which of the following expressions is equivalent to
%y2(6x+2y+ 12x — 2y) ?

A.  9xy’

B. 18xy

C. 3xy*+12x

D. 9xy* -2y’

E. 3x°+12x—y -2y



24. For nonzero numbers x and y, Wthh of the following ° M A J i% /
ichH o € /061//

expressions is NOT equwalent to = ?

\
)

- G.: X
-/

He: =X

) 5

-nx

A

Z
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18 GO ON TO THE NEXT PAGE.
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37. Which of the following is NOT a factor of ° — 167 2 DO YOUR FIGURING HERE

—>A. z;—l ' F C [/ S
74 B. -4 /ﬁ&aform/g 200 /4%’1@2'555 2/21—[/’/4)

Ci 242 .

21, Dferemest 2 (2 g)(249) = 22602

38. What is the sine of o in the rioht trianala chaswrm in ¢ha

BT My A
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19. (2x - 3y)* is equivalent to: B/_ WO /M/M gf”ﬁ% (—A

o - T N\t )
1- g)ﬂ ‘g 3;;;_33;' " Taby )E T ety @pfy’m% e (7«76> = 7/751
- 3 y } . - ) l
f Z BJ/)‘L E. 4x -6y ﬁ; Z"ﬂﬁﬂw M/E/W(g#ézg)l; 75
— a 3 )
_‘. ACT-63E-SAMPLE %’ Aﬂ % WS 47/6// //é v % é i T

| Hem ani % bk i pudia _ )7,

LX) -3y = —bay ¥ 2 =



18. When y = x*, which of the following expressions is
equivalent to —y ?

F. (-x)*
G. —x
H. —x
J -2



8. What is the simplified form of —(3x + 5)%
f. 9x%+ 30x + 25
g —9x% - 25
h. 9x% + 25
i. —9x%-30x-25
j. —39x2 = 25



13. For what value of a is x = 3 a solution to the equation

x+3=ax+91
/: A. 15 ' /‘/é'éé K>

E. -3 .
| L—a = 2%

o : —% = DA 16 GO ON TO THE NEXT PAGE.
—] = &
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33. IfV2x —5=1,thenx=? ' DO YOUR FIGURING HERE.

? %3 U e §ﬁ/l//1§ S DL

c. 13 /d » \}—7_":): (é) 2—
.JE 18 YM gﬂf/ 27)5 S¢
x = /8
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15, (4x° - 3x + 7) — (=1 + 5x + 2x?) is equivalent to: DO YOUR FIGURING HERE.

TRA e i 3 Mohe stqe Vaco

B, 2x°+2x +8

C. 2+ 2 +6 N -2 = /}7/7///2 % /‘(37%—//%-
D. 6x4—81 +6 ok 0)(.*/'8

E. 6x*-8x+6

Prepely.




19. (2)‘~3f)’)2js equivalent to: E/_ WO /47/% waﬁ% Lc,A

> AL dx? - [2xy + 9y’ L
B SET Tape 12 TRt o Spupre oA (2~ 4
= . 43+ 09y - y
s INE Ternt pef S/Wz <3 9) - 75 |

_Zabsb? “k
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hen el e dhufl L podis )2

LY ¥ -3y = —bxy ¥ 2 =
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31. What are the (x,y) coordinates of the unique point on

the graph of x + 4y = 18 such that the y-coordinate of /A 0 N M
Jc,/\ CA

, TM wiTh e

that pomt is twice the x-coordinate?
2 D -~ WorK?-
e 2

—>8 (4
& & 4 LA
rorsic ém/l Df[] B GO ON TO THE NEXT PAGE.
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48. What is the value of (x + 2)(x = 3) + 5 when 6& F2) (7,2’0 =2 _—b = —y

F :% Wi'r(&j—é’ @*2)(1”5) CoiTh —Y
o1l A : :
F 3 , (—4) +5 =

——
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15. What polynomial must be added to x* — 2x + 6 so that
the sum is 3x* + 7x ?

A.

SR .

4x* + 5x + 6
3x° +9x + 6
3x* +9x — 6
2x*+9x -6
2x* - 5x+6



21. (a+2b + 3c) — (4a + 6b — 5¢) 1s equivalent to:

A. —4a-8b-2c
B. —4a-4b + 8¢
C. -3a+8b-2c
D. -3a-4b-2c
E. -3a-4b+ 8¢



This month, Heather sold 75 figurines in 2 sizes. The
large figurines sold for $15 each, and the small
figurines sold for $10 cach. The total arnount of money
received for the large figurines was the same as the
total received for the small figurines. How many large
figurines did Heather sell this month?

E 25
G. 30
H. 37
J. 45
K. 50

Mhat are the 2 positive integers such that the sguare
oot of their sum is 5 and the square root of their prod-
ict is 12 7

.. 2and 3
i« 3and 4
- S apnd 144
. 9and 16

12 and 25



